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10V, constant. The output is the voltage across the capacitor, vy(t).

Required: Determine the expression for the output voltage v,(t) for #>0.
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(1) The circuit shown in Figure 1 is in steady state before the switch opens at t =0. The 1nput is |
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(2) The circuit shown in Figure 2 is in steady state before the switch closes at t = 0. The input to the

circuit is a constant dc voltage of 24 V. The output, v,(t), is the voltage across the 3 Q resistor
and is given by

v, (£)=6-3¢"" V; 20

Determine the (a) value of the inductor L, (b) the values of the resistor R; and R,.
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(3) - You are given the circuit of Figure 3. Determine the expression for the voltage vy(t)..
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(4) You are given the circuit of Figure 4. Determine the impedance, Zyp. |
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- (5) You are given the circuit of Figure 5. Solve for the phasor volta
answers in polar form. Note: The unit for the circuit parameter.
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(6) Solve for the phasor currents I; and I; 1ndlcated in the circuit of Figure 6. Express your answers

in polar form.
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